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Fatal Signal 11: Segnentation fault
PC. [0d8e2647/ X] EZpr nSER_CheckError ()
Faul ty address: 0x272e95d4
Signal from Kkernel



Signal detail: address not napped to object

Process: card=7 cpu=1 arch=X pi d=16579 ar gvO=npungr

Crash time: 2017-Cct-03+01:02: 32 UTC

Recent errno: 115 Operation now in progress

Bui | d_nunber: 67999

Stack (22120@x0xffc3a000):
[ 0d8e2647/ X] EZpr nSER_CheckError () sp=0xffc3aaf0
[0d78c348/ X] EZapi Prm SERCheckError () sp=0xffc3abl4
[ 004f 4bab5/ X] aresEZevents_MenSErr_Handl er () sp=0xffc3ad94
[ 004f 688b/ X] aresEZevents_Handl er () sp=0xffc3f 104
[0d77206c/ X] EZdev_| SRTask() sp=0xffc3f138
[ 0c25eb02/ X] sn_l oop_run() sp=0xffc3f5e8
[ Obf 451c5/ X] mai n() sp=0xffc3f658
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